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What is different here, — NIP1 TWRT JINT K277 NIW ORRD
that he teaches; ‘The woman is acquired’

OVERVIEW
The X 13 asks why the 71wn here uses the term (n°1p1 AWRA) 1°1p instead of

the term 7w 7p (which is used in the second P19).' nvoIN offers a possible
alternate answer to this question and a rebuttal to his answer.

Mmoo anticipates a difficulty:
— 9139139 '8 NN
The %713 could have answered that the reason the miwn states n°Ip1 AwXT and not
DWIPNN TWRT IS -
- PYITP YUY NN THOY RYT NNEY NN NP RXOXD 55NY 5337 2N
because the Xin intended to teach in the X2 ‘and she is 7292 herself’; in

that case the term 1P217°? would be inappropriate there. It is preferable that
the same expression is used for both the X7 and the X9°0. If we would use nw7pnn in the
X7, we would also prefer to use it in the X5°0. However, there is no way that we could
use the term 7"W17°p to express how a woman acquires herself. Only the term 7°37 lends
itself to be used both in (the man) acquiring the woman and the woman acquiring herself.
Therefore the 71wn does not write NWIpn» in the Xw" (for it cannot write PYITR in the
X9°0), but instead writes N°171 in the Xw since it can (only) use 71p in the X5°0.

mooIn supports this contention that it is appropriate to alter an expression in the X1 in
order that it should fit with a similar expression in the X5°0:
— 2191902 53w NIy SXN)

For shortly the X773 will answer in a similar manner.

mooin offers a rebuttal to Mo0IN suggested answer:
— 05997 %WA NN 2INIY I8 NINT NN 13929 399 9IIN 1NN

However m1n 2''977 states that the question of the X7n3, that in the Xw™7 they
could have used an expression of 1"217°p, is valid, for in the X5°0 too, the Rin

could have stated ‘and she is nn° (made permissible) in two ways’ -
191N PYY 7OV PYITH saxT

! The mwn should have stated "2 nwTpn» mwxa (which is the expression used continually in the X723).

2 See in the '2 7MY where the X3 explains the reason the R states N Ipl1 AWRT and not A1p WK is
because in the X5°0 it is necessary to state 72XY DX 7121 (making the fwX the subject), therefore in the Xw*
too, he states n*1p1 WX (making the 7wy the subject). See ‘Thinking it over’ # 1.

3 The X3 on the '2 Ty explains that the 7137-term 7w17°p alludes to the fact the he made the woman
forbidden to everyone as if she were w7pi. Since the term w17 alludes to MOX, the term N°77 would be an
appropriate complementary expression. See ‘Thinking it over # 2.
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For the term 2057 (permissibility) is appropriate as the complement of the
term P79, The miwn should have stated 2°277 '22 nAN°11 22377 22 DWIPNA AWKA.

SUMMARY

The mwn may use a term in one case in order that it matches a term in
another part of the mwn. The term NN is complementary to the term
IR7AREPR

THINKING IT OVER

1. moon proves that one changes the Xw™1 on account of the X9°0. We see
this where the mwn states NP1 w7 instead of P wxi.* However we can
distinguish between the proof that NM1901n brings and our case here. There the
mwn changes TP WRA to NP1 AWRA, however here we are asking that it
should say nw7pnn instead of n°pi. It would seem that the term n°Ip1 is
inappropriate for WX "W17p (as opposed to nwipnn) and indeed this is the
question of the X3 here’. How can we compare the change from 131p WX
to NP1 AwRA (which 1s [seemingly] a minor change), to the change from
NWTPNR MWK to N33 AWK (which is a more significant change)?!°

2. Seemingly mooIn disagrees with min 7"77. What constitutes the basis of
their dispute?’

* See footnote # 2.

> See, however, following 21w» "7 M50 where he states 'PIp W9 ¥ Mnn 77 K9
6 ") Moo, See 1" footnote # 432.

7 See (m M) *">2 and 7"»X footnote # 433.
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